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&'()* (kcal) 235 +28,342 5+2 333,690 250 500 450

-./01(g) 8.5 3.8,+3.2 +7.5 9.5,25.6 +0 +0

21(3) 9.6 +.8,+7.5 +7.3 0.9,33.7

4567(g) 29.8 +3.5,46.+ 7+.+ 43.3,99

8(mg) 2.0 0,3.+ 2.0 0,4.2 +3 +3 2.5

9(:;<(mg) 74 0,+55 +94 79,3+0

=>?*(@�(AgRE) +35 0,3+2 +89 0,492 70 70 420

BCD�B+(mg) 0.+9 0.03,0.34 0.30 0.03,0.56 0.+ 0.3 0.+

BCD�B2(mg) 0.+7 0.03,0.3+ 0.32 0.05,0.59 0.2 0.3 0.4

BCD�E(mg) 43 0,+0+ 43 0,+07 +0 +0 50

���� ����FG���

YZ[+4567��N�M\+��������	
���N(SV)�=��M]2^1��-.

=QR^1_+HIJK�\CD_@M 235kcal�+HILK89`aK�\ 5'2kcal�b.c

def�1A:;<�N�M\+ghi\HI�`aJ�QRj�kl_S�1T=mno�^

_pZ��1AqrM+g�N�M\+��st_@M�����u�vw�RZM+�Hxy�

�z��{|}~���S�M�1���+g=������=��@M��^1klc�1A


